Hw

e

o

1A

o

2~
e

1

e ZF a?h—ab® 9 Q

© a-b

© a?b
@ a(a+Db)

@ ab?
® a+b




X2 4 py+ q 7F RAAZA] 57] $15k p, ¢ O] ALY

[\v]

<
I
0|
(®)
Q
I
|
[laS]

© ©
i

IS
NG~
©

olxgre] A47H 1 A W, ARFRFO] AS] Wuke] AFo] A4
ao] wojof A F4lo] e,

metd g = () ole.




3.

y<x<O0Lu, /x2-2xy+)y2+ /a2 +2xy +)2 &

@ o @ 2x-2y ® 2x

@ 2y @—2y

VE=)2+ /(x+y)? =lx—-yl+ Ix+)yl
=x-y=(x+y)=-2




ASRANE vt § AL BE T2w?

D x®-5x-6=(x—2)(x—3)
@ 12x - 4x® = 4x(x - 3)
@x2 - 1dx+49 = (x-7)?

@ 3x* +5x—-2=(x—2)(3x+1)

@‘W - 9b® = (2a - 3b)(2a + 3b)

@ (x=6)(x+1)
@ —4x(x - 3)
@ (x+2)(3x-1)




® x @ x+2 ® 2x+3

W +3x+2=(x+1)(x+2)

232 +3x-2=(2x—1)(x+2)

359 A= (x+2)°]2,

5% AT AT U A] A4E9 2 (x+1)+(2x—1) =

3x°|t}.




6. 12x?-ax-6=(bx+3)(3x-2) 2 S 252 o, ab 9] S o}
ofzt.

> E:

> HE: ab=-4

12x2 —ax—6 = (bx+3)(3x-2) € o, 3b = 12 0| B2 p = 4
ojtt.

wehA o] S tASHA AASHH 1242 4+ x—6°] 22 a = -1 °|t.
. ab=-4




7.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




8. (2x+1)2-(x=2)2 = Bx+a)(x+b) Y T, a+3b°) G F5H?

® 4 @ 6 @1  @s ® 9

B ,

2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
— (3x—1)(x+3)
La=-1,b=3
La+3b=-1+9=8




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




10.

x=-3+ Vb & ], x* 4+ 6x+9 O F& FoHH?

x24+6x+9=(x+3)2=(-3+V5+3)2=5




© x%2 =28
® ¥*+4x=x-3
@ (x-2)2=25

® (x+1)2+4=x

® (x+1)(x—4)=x*(x+2)

®ae @ ©,©
@e. @ ® © 6

® 0,60

B

@ x> +2x+1+4=x
2x+5=10: LA 2]

@ 22 -3x-4=x%+2x?

B+ +3x+4=0: FAAL




12, oA x2 —ax - 12 = 0 9] 3 o] -3 o]l &
3x2-1lx+b=09 < < W, ab o] G227

®-92 @-12 @4 @4 ® 92

B

-ax-12=0x=-3 2 HYSH 9+3a-12=0,a=1
¥-x-12=0, (x-4)(x+3)=0

=] (e}
222 x=4

32 —1lx+b=00 x =45 WY} H 48444+ b=0,b =4
sab=1x(-4) = -4

o
rl
rlo




oju
N

Ol AFEAA 2 - x4 1

13.

sholat,

q_

B-B+1=0
~14+-=0
B +'3

=1
’8+,B

=1

2)2—2:1-2

(5+

1
B

o B2+




ojm=z

ESHEaN|

=b A (x+a)? =

2(x + a)?

metA ¢ = -3,b = 10 o]




—
=
~
N
N
o
_>|J_x‘
ol
o
1>
=
[V}
|
D
=
I
w
I
(an)
lo
sk
rH
me

o}, p2 —6p + 8 ©] Ff>?

@ 61 @ 51 @11 @ -11 ® —-61

x o pE HYSHH p? -6p-3=0°]|E2
p?—6p=3
wtebA] p? - 6p + 8 = 11 0]t




16. A2°] Zol7} 2a+40]al Eo|7} 6a% +18a+ 1221 AAML Y
Zdol=?
D 10a + 12 @ma +14 ® 12a+12
@ 12a+ 14 ® 14a+ 16

94

=49

6a® + 18a + 12 = (2a +4)(3a + 3) o] B =
S8 ZolE 2x (2a+ 4+ 3a+ 3) = 10a + 14 0]t}




rT
I

= =
Al
4
NN
ol

= =
@ @
T~ T
o
= = =
A
WM H

N on— |

V_._Axx
@ o o

B

x—-1=0E=x+2=0




18. Fo]apA4] 242 -2x-12 = 0, 3x%2 - 11x+6 = 0 = FA|of| TH&oh=

® 0 @1 ® 2 @:s @4

2x2—2x—12:0
2(x=3)(x+2)=0
. x:3.9:_'lf_‘x:_2

3x2 —11x4+6=(3x-2)(x—3) =0

2
. ng_E%x:?)




X2 4+4x+4=0

19.

® x=3(FD)

‘ (x+2)2=0,x+2=0, x

@ x=1(FL)

)

T

_2(




20.

@ 5x+1

® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521




